COPYRIGHT RESERVED GG(Il)-Eco(5)

2021(New)

Time : 3 Hours
Full Marks : 70
Candidates are required to give their answers in

their own words as far as practicable.
RISl YA ST wreat H € WTR T
Figures in the margin indicate full marks.
A 3R RR ¥ R g0 sim qoie e o 2|
Answer from all the groups as directed.

freemaR o @l § IR €

Group-A

(ETe—3)

Objective Type Questions

(Tgfs )
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1. Choose the correct answer of the following:- 2x10=2q

fp=forRaa weeil &1 8l ITR BT T v—

(@) Who is the Chairman of Niti Aayog?
ARG AT & armer B 87
(i)  Prime Minister
QeI
() Home Minister
(i) President
RTSTafd
(iv) ﬁinance Minister
facd =

(3) What type of unemployment is found in

agriculture in India?

ARG H BT &F F B WA RIS aRi oy 2
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() Seasonal Unemployment

AR R

(i) Disguised Unemployment

(iif) Cyclical Unemployment

Ih RISHTR)

(iv) Educated Unemployment

R Ror
(c) According to Industrial Policy of 1991 which
one is kept reserved in Public Sector?
1991 & MENFe A & AR fbd Adee &3
B IRfE aT T 77
(1) Petroleum Industries
G Al ST
(1) Cement Industry
AT FeT
BH-712
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(i) Railways
Y uRags

{iv) ron and Steel Industries
AreT Ud g e

‘(/d) When was the National Food Security Act

Started?
LY e R AR G A T3 AT
(i) 2011

2011
(i) 2012

2012
(jii) 2013

2013
(iv) 2014

2014
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(e) Indian Economy is:-

YR Jrefererer § —

(i)  Mixed Econc;my
A3 arelerazen

(i) Developing Economy
farreia arelareaver

(ji) Both (i) and (ii)
(i) Td (i) ST

(iv) None of th;se

g W Iy ol

()  Which one is not a source of conventional

energy?
PR 3 QY P |1 IRARETG Sl $T AR TR 87
(i) Petroleum ‘
LR
(i) Atomic Energy
URATY] Sl
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(iii) Coal
PRI
(iv) Electricity

fage

Jg) Which is the cause of low agricultural
Productivity in India?

TRA H A Y SRET & B A BRoT 22
()  Lack of Irrigation facility
Rrems @1 gl & s
(i) Shortage of Agricultural Finance
i foel 1 7
(iif)  Traditional Method of Agriculture
DY DI WRARTIT T
() Al of these
EELIE]
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(h)y The concept of LPG is related to which

Industrial Policy?
SERIERT, FOfER0 Td rrgeaer 41 @ewo
e fbd sleifie Ay 9

() Industrial Policy - 1956

1956 DI 3ENfie fy
(i) Industrial Policy - 1980

1980 @I 3fenfrs N
((jii) Industrial Policy - 1991

1991 @I JENfe Ay

(iv) Industrial Policy - 1948
1948 @I Al i

e How many tiers are there in Panchayati Raj
System of India?
YRd & e} Jomen R R
(i) One tier
Udh TN
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(i)  Two tier
al R

gii)  Three tie(
M W
(iv) Four tier
IR WX

() One of the following which one is an important

infrastructure for Indian Economy?

Wﬁaﬁmmzﬁf?—mﬁwﬁﬁaﬁaw
TEAYYT TR WReT 27
() Industries

SENT

(ii)  Agriculture
Gk

c

(iii)  Small Scale Industries

oY e
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(iv) Banking, Insurance and Finance
Group-B
(@)

Short Answers Type Questions

(cTg TR 7E)
Answer any Four Questions of the following. 5x4=20
frfafag 9§ 58 IR U & SR < |
} Explain in brief the poverty in India.
AR 3 TG B At @ B |
3. What is the Second Green Revolution?
<@l eRa it @ &7
A Whaf is the Fourth Industrial Revolution?
AN el wifq T E

- <5/ Describe in brief the causes of Energy crisis in_
India?
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aa N ol de B BRON B Tfaer 7 acerrd?

6. Write Short notes on Information Technology.
g it W i el fere|
Group-C
(are—)

Long Answers Type Questions

(S SR W)
Answer any three Questions of the following:- 10x3=30
Frferiea & 4 5=l 9 weei & SR o
/7. What are the causes of Unemployment in India?
Suggest Measures  to solve the problems of
Unem-ployment. 2
_ RO RO S -3 @ SR $2 R
AT & M ¥ \gEa
8.  Describe the Food Security Act- 2013,
el GReTT STH — 2013 &7 ol ¥ |
BH- 712
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9. _ Critically analyse the industrial Policy, 1991 of India
MR W AENRD MY - 1091 A areirermon @
™ |

\/19.. What is NITI Aayog? Describe its composition and

objectives.

AR AT T R TS Tow ud wegdl F Ao B

11. Analyse the role of human capital forma in Economic

development.
. mﬁmﬁmﬁwf@ﬁﬁwﬁ@mmﬁﬁ\

™~
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COPYRIGHT RESERVED GG(Il) — Eco (5)

2020(New) d

Time : 3 hours
Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.
R T 3797 315 5 & ey &

The figures in the margin indicate full marks.

3910 & 37 QUIfF & Gaw &
Answer from all the Groups as directed.

ﬁé%ngmw?@va}'#amé'/

Group -A
Que - H
(Objective Type Questions)
(i w¥9)

1. Select the correct answer of the following
questions : 2x10=20
frferiaa wet & et 3o a1 = ¢
(@) Which of the following is / are Money Market

Instruments ?
TJ-151/6 (Tum over)

/
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et 4 R T ——— Y _— e

frefefas & @ #9 gz aow @1 / % v

27

() Treasury Bills
oot fore

(i) Commercial Papers
ST g3

(iii) Certificate of Deposits
STHT JHIUT 93

(iv) Allofthese
T O gt

(b) A persistent fall in general price level of
Goods and Series is known as :

- g Ud Qa1 % W hiEd 1§ TR 8
& firrere =t ST ST @

(i) Deflation
TFEhIfa
(i) Disinflation .
foredhifa
(iii) Stagflation
T whifa
(iv) Depression
q-al
() In which year first five year plan was
launched ?

TJ-151/6 (2) Contd.
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WO qasfy A1 ) eTd Fa Y T 7

(i) 1950 (i) 1951
R_Yo0 LUY:
(iii) 1952 (iv) 1953
RR4R 2343

(d) Whois known as father of Green Revolution ?.
g sif= o1 s fopl AT S 2 7
(i) Dr. M. S. Swaminathan
Slo THo THo ETHHTA
(i) Norman Borlouge
AT AR
(iii) Verghese Kurien
iffer i
(iv) None of them
FH 8 FIE A
(e) In which year “20-Point Programme” was
initiated for the first time in India ?

T o g o e ad o - A
3 feRm mam A ¢

(i) 1972 (i) 1975
- 23WR 2’04
(iii) 1976 - (iv) 1978
2] L& FRW<e
TJ—151/6 (3) (Turn over)
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I T TR R SN AT SN SRR ST TR

()  Universalization of Secondary Education was

an aim of which among the following five year
plans ?

ﬁm%ﬁaﬁﬁﬁ%aﬁ?aﬁaﬁwﬂmwﬁa:
ﬁrmmmé\ﬁﬁwwa&nr@wm?

() 9th Five Year Plan
ANt v il e
(i) 10th Five Year Plan
Tqdl 99 qufq Fren
(iii) 11th Five Year Plan
RISCIREEL PRI
(iv) 12th Five Year Plan
el 99 affg Frem
(@) Which among the following has the function

of recommending “Minimum Support Prices”
for various commodities to the government ?

R I fafir it @ g Tl e
I F3 7 e e 4 e 2 7
() National Farmer’'s Commission

¥ foram amam

(i) Agriculture Cost and Price Commission

Y ST vE Fieq s

TJ-151/6 (4) Contd.
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RN T S S AT TR 4R S T R N A ST

(iii) Central Statistics Commission
2 Wi s
(iv) Department of Agriculture

FI farvmr

(h) Which one among the following is not the
source of Conventional Energy ?

Ferfefen & @ a9 wowma st @y gra
27
(i) Solar Energy (i) Coal

R S FRAT

(iii) Natural Gas (iv) Petroleum
BIEAGE Rt Yiferam
(i) Which among the following bodies estimate
the National Income of India ?

ﬁnﬁﬁaﬁ?mmmaﬁ@wmaﬁ
MO AT 8 7

(i) Ofﬁcé of the Economic Advisor
aTfife TATERR H HEiTd

(i) Ministry of Statistics
gifeaeht AT

TJ-151/6 (5)

(Turnover)
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(iii) Central Statistical Organisation (CS0O)
el Wiy wiray

(iv) Ministry of Finance
fort Wty

()  Which of the following clause of WTO is a
obstacle in the export of India ?

() International Labour Standard

HIGH 39 Hreve
(i) Environmental Protection
TR HRagoy
(i) Both (i) and (ii)
(i) @ (ii) Bt
(iv) None of these
4 8 FKE T
Group -B
@US—§
(Short-answer Type Questions)
(F1g-3da 5rm)

Answer any four questions of the following :
S5x4 =20

TJ-151/6 (6) Contd.
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freferfiaa 3 & foreef o ool 4 3 3
2. Whatis Human Development Index ?

e 9o geieE Fn d ¢

3. Describe the causes of problems of Agricultural
Finance.

Y | T F Fei w5 Farsd |

4. What is the role of means of transportation in
Economic Development ?

aTTideh forehra & ftae & wrAi i = v & 7

3. What is the role of Cottage and Small Scale
Industries in the Indian Economy ?

I 1 HYIae1 § F2R UF @Y I 1 41 Yfiem
27

6. What is Globalisation of Indian Economy ?

YR 37efeaaeeT o EuaH =12 7

Group-C
Qg -|
(Long-answer Type Questions)
(e -3wdTa I9A)
Answer all questions of the following :
10x3 = 30
TJ-151/6 (7) (Turn over)

— .,,F-Mbﬁ-
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ﬁw%f@aﬁmﬁwﬁ%mé

7. Give a detail account of the composmon of
Foreign Trade.

ﬁéﬁw%mmwﬁqaaﬁuél

8. Write an essay on Agriculture Development of
India during plans period.

a‘mwfamreﬁaﬁ%ﬁmmwﬁaw%él

9. Evaluate the disinvestment policy of the
Government of India.

HRA TR A e Hfe 1 qeerians =% |

\/
0‘0
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COPYRIGHT RESERVED GG (Il) Eco (CC-05)

(Session : 2021-23)
(New)

Time : 3 Hours
Full Marks : 70

Candidates are required to give their answers in

BH-993

their own words as far as practicable.
Tl JTEE 37O T H ST G |
Figures in the margin indicate full marks.
R ol R 3 R gy aiF quie fife & &)
Answer from all the groups as directed.
freergaR ¥ @vel § ST <
Group-‘A’
(avs—3r)
Objective Type Questions

CESIEISRE)

1. Select the correct Answer of the following
questions : 2x10=20
f=forRad el & WE SR @ gUT BN
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(11) - < ol /
7)) L
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M ST & JemA B E 7
(i) President ="

(i) Prime minister

suaie S iAlnegd PN
U "3l

SR\ L o e N SR N T Ry
(V) Finance minister
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() When was MGNREGA First introduced in th
country ? ' e
IR % YR @ TS 7
() 2™ February, 2006
2 TNAWl 2006

(i) 7 September, 20‘05 '
7 ﬁam 2005 ﬁ
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8. Critically analyze the industrial policy, 1991 of India. g

Wﬁaﬁﬁrﬁr&ﬁﬁf—wmﬁmﬂﬁ%w B |

9  Analyze the role of human capital formation

Economic development 7
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2020(New)

Time : 3 hours

Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.

gheelf FrRINE 3797 Vel § g1 W G |

The figures in the margin indicate full marks.

3977 & 37w quiE S MaF 1
Answer from all the Groups as directed.

RZmgar @ @vel @ IR E |

Group —A
g - A
(Objective Type Questions)

(TEgE IW)

1. Choose the correct answer of the following
questions : 2x10 =20
frferfiaa wei § 9 @8l I FH =5 L :

(a) Developmentis impossible without :

TJ - 152/4 ( Tum over)
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IEEar I a1
() Incentive to Profit

AN & Mg &
(i) Foreignaid

faeft avrem &
(i) Savings

CEGES
(v) Inflation

whifd &

(b) The foremost obstacle to econemic
development is :

Fifedes T it TR STy ?:
(i) Vicious Circle of Poverty
TREd 1 g
(i) Political Constraints
(ii) Cultural Constraints
i foes g
(iv) None of these
| HIS T
TJ-152/4 (2) Contd.
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(c) “Economic growth is the result of human
efforts “ . Thus staternent 13 of ;

ot wgfy wdi v s e R —

48 Y+ & :
(i) Simon Kuznets
QA FoHE
() W.A.Lewis
g0 Wo cifad @l
(i) W. W. Rostow
T S0 UM FH
(iv) None of them
T 4 FIg T

(d) Who gave the concept of Big Push Theory 7
‘T2 yan fagra’ Y srgunon fama e 7
() Rosenstein Rodan

Ve U

(ii) Colin Clark
FHifeH FTh

(iii) Both are true
a1 a8 8

(iv) Both are wrong
3t Tierd 8

TJ—152/4 (3) Lk
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(e) The indicators of Human Development index
IS :
uHe fare gawie # aas R .
() Life Expectancy
Sfte weamm
(i) Education
NG
(i) Standard of Living
ST w
(iv) Allofthese
T | ot
(f) Investmentin human capitalis :
(i) Anasset
e iy
(i) Liability
e
(i) Wastage of money
qs1 i |t
(iv) None of these

¥ 4 F§ T

TJ-152/4 (4) Cortd.
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(9) Capital intensive technique are most suitable

for :

e ‘{aﬁ a-te WAt R

() Underdeveloped countries
Jfawida awm & forg

(i) Under-developed countries
Freafaia 20t & frg

(ili) Developed Countries
faefva 3w & fore

(iv) Allofthese
i @ oft

(h) The concept of Human Poverty index (HP1)
was introduced in the year :

HHE SREA gaHIH A T
(i) 1990 -
IH 3jR0 #
. (i) 1997
ad 2R #
(iii) 2000
af 000 H
(iv) 2002°
 gd 003

TJ—152/4 (5) (Tum over)

|
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() The most importance reason for
unemploymentis :
AR 1 G TG H R
(i) Growth of Population
SaE $ §af
(i) High birthrate in rural area
oy &=t 3 Sft I A
(iii) Defective Man-power planning
Zragqof wa-Ties b
(iv) Allofthese
< @ |
() The stages of Growth: theory is associated
‘with 4
fRrrTa 1 TTEE RigTa gt € :
(i) Ricardo
faprel
(i) Rostow
L AC
(ii) Adam Sritfi
Uy &y
(iv) Marshall
ot

TJ-152/4 (6) Contd.

h
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Group - B
@ug - q
(Short-answer Type Questions)

(vrg-Iwiia W)
Answer any four of the following questions :
5x4 = 20
frafoRaa & & foredf o wet & 3w 3

Z. Explain New International Economic Order.

73 v s TRy #i s |

3. Discuss, in brief, the Malthusian theory of Popuiation.
ATeud & Saed fagra & afém s &+

4. Write down the views of Adam Smith on economic
growth theory.

g fare ¥ e wafy e Rigrm = frd |

Discuss the concept of Human Capital.

AT Yoit s AN Hi =TEET w |

5. Pointout the concept of Economic Progress.

anfife e <t sraymon =i 3 &t |
Group -C
Wus -9
(Long-answer Type Questions)
(Frd -zwrlta W)

Answer any three questions of the following :
' 10x3 = 30

wn

TJ—-152/4 (7) (Tumover)

TR
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fraferfaa & @ Rl ot wwt & It &

Distinguish between Economic growth and
Economic development.

anfefe wafy wan snfle faema & s we |

8. Describe the Rostow's stages of Economic

Growth theory.
2 ¥ anfies wafy frgra i faaaa # |

Discuss Lewis Model of Unlimited Supply of
Labour.

afya F srftfia-sm-gfif afea 4t srer w |

10. Explain the concept of Optimum Population

theory.
STEEan JAEE fgra i Sauren Hi 0 |

Write down the role of technology in economic

growth.
s wafy A daieh 3y (sitenfirht) & JrmeA

_aﬁﬁ-lél

1.

3

TJ - 152/4 (250) (8) GG(Il)—Eco (6)
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COPYRIGHT RESERVED GG (Il) ECO-CC-(6)

2021(New)

Time : 3 Hours
Full Marks : 70
Candidates are required to give their answers in

their own words as far as practicaglg.
TRIETTRl TT A wrea) A ) SR ¢
Figures in the margin indicate full marks.
iR AR R 7 A g0 o yworis fiffe o=y 2
Answer from all the groups as directed.
Fergar i @vel ¥ R ¢
Group-A
(Tvs—3)

Objective Type Questions

(e 7e)

BH-713 GG (Il) ECO-CC-(6) Page : 1/11
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1. Select the Correct answer of the following

guestions: 2%x10=20

fefoRaa ueal # 9 WE! SR BT T P

(a) Economic development is known as:
M fIwR AT I e
(l) - Structural Change in the economy
- gefaraRer # WA IRadH
(i)  Change in Occupational Structure
AGAIS Srar 3 gRec
(iii)  Both (i) and (ii)
(i) Td (ii) ST
(iv) None of the above
Suda & P
(b) New International Economic Order is

Proposed during: '

S i o | DE I G I K B I G G
T

BH-713 GG (Il) ECO-CC~(6) Page : 2/11
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() 1970

1970 .
(i) 1980

1980 .
(iii) 1990

1990 §.

(iv) None of the above
ST H 9§ I3 ol

(c) Kbnife — edge Problem is related with the

model:
e TR B TR 7 Afed W qRiRd €

(i)  Kaldor
BIeSR

(i) Domar

TR

(ii) Harrod
YIS

BH-713 * GG (Il) ECO-CC-(G“) Page : 3/11
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(iv) Swan
dqid

(d) Labour intensive technique are most suitable

for:

SH-TTE Tbeilh ara &

(i)  Under developed countries
Aeufdai <ot

(i)  Undeveloped countries
HfdRa <

(i) Developed countries
faefa <ul

(iv)  All of the above

LR GG
(e) Human Capital development is associated

with:

A1 Yol famr At &

BH-713 GG (Il) ECO-CC-(6) Page : 4/11
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(i)  Talent Management

gfonTr e

(i)  Performance Management
fwTes ydes

(i)  Human Resource Management

A faer ydes

(iv) All of the above
RENGRAGH

Malthus is famous for:

AN UM &, & fofu:

(i)  Population theory
EREICHRTE]

(i)  Economic Development theory
e faera figr

(i) Economic Growth theory
i wefy R

GG (1) ECO-CC-(6) Page : 5/11
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(9)

(h)

BH-713

(iv) None of these

T W PIY T

Ricardo’'s book on ‘Principles of Political

Economy and Taxation' was first Published in:
Rerel @ i ‘Hifiger affe difcifede gemm
TUS SRITH' WG AR gar

G 1717
1717
(iy 1817
1817
(iiy 1917
1917
(iv) 2017
2017

Lewis has divided economy in:

oifa arefeyeren & fowiiorg faam &

GG (ll) ECO-CC-(6) Page : 6/11
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4 Sectors

4 D

(i) 2 Sectors
2 & h

(i) 6 Sectors

6 8D

(ilv) 8 Sectors

8 &G

(1) The concept of Gender Inequality Index was

introduced in the Year:

ol SR qEHD B RO aY H B

gell s
(i) 2000

2000
(i) 2005

2005

BH-713 GG (Il) ECO-CC-(6) Page : 7/11
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i s

e i e R e
\
V

)

BH-713

(iff)

2010

2010

2015

2015

Unbalanced theory of growth was Propounded

GG (Il) ECO-CC-(6)

nnnnnnnnnnnnnnnnnnnnn

by:
e faar &1 Rigrt ufaarfed foa, gwe
(i)  Singer
o |
(i)  Adam Smith
TeH Y
(i)  Marx
iGN
‘ (i\} Hirsehman
BUEI
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Group-B
(ave—q)
Short Answer Type Questions
(Tg—Swdrr W)
" answer any four of the following questions: 5x4=20
prfaRad 7 ¥ {6 IR T & SR <
2. Point out the concept of Inclusive Growth.
A ot B SR 3 ST B |
Explain Gender Gap_in DeQelopment.
R ¥ T ol (Rwwen) @7 wamd |
/ Write down the Concept of Balanced Growth.

<o R @ SR B R |

/5/ Discuss in brief the Big Push Theory.
R b & g B i @ &)

6. Elucidate the term ‘Human Poverty’ Index.

Ad SREdl GEaid T Bl T B |

BH-713 GG (ll) ECO-CC-(8) Page : 9/11
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Group-C
(ave—v)
Long Answer Type Questions
(-3 e)

Answer any Three question of the following:

frtfeed # @ fobd) o 1t @ e <

10x3=30

7.  Discuss in detail the Human Development Index.
A BN i & favga avi oy |
j{ Critically explain the Fei-Ranis Mode| of economic

growth.

BT HSd B SN 9o Y |

©

Make a Critical appraisal of Malthusian theory of

‘/ \

Population.

AT & G Rt @) aitelreTenss euio v |

.

BH-713 GG (Il) ECO-CC-(6) Page : 10/11
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/%@7/ :

/Explam the relation between Human Capital and
10"

Development.

quﬁaﬁ?fﬁﬂ?m?\)mﬁiiﬁ\aﬁﬁ\
| Throw light on Adam Smith theory of economic
11.

gr0Mh.
Q—\e;q_.ﬁqﬂl & e faar Rg R THTY ST |

BH-713 GG (Il) ECO-CC-(6) ~ Page: 1111
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COPYRIGHT RESERVED GG (Il) Eco (CC-06)

(Session : 2021-23)
(New)

Time : 3 Hours
Full Marks : 70

Candidates are required to give their answers in

BH-994

their own words as far as practicable.
el Terd o ¥l SRR <
Figures in the margin indicate full marks.
T oiR R ¥ R g i Tt AR ¥
Answer from all the groups as directed.
ST ER i @vel § SR <
Group-‘A’
(ams—ar)
Objective Type Questions

(awgfTs )
1. Select the correct Answer of the following
guestions : 2x10=20
RyefeRad ot & & el TR & a9 |

BH-994 GG (Il) Eco (CC-06) Page : 1/8
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(h) Determinant of economic development is :

31 b &1 (RS T &
() Human resource
HHAE G
(i) Natural resource
TR T
(i) Capital formation
\ et
(iv) All of the above
SR il
(i) Poverty Removal Programe is :
TRIET AR $RshA B
(i)  MNREGA
HETCHT THT RIS ISR TNET BriishA
(i) PMEGP
HETTAET SR Gor HRIHH

(i)  Annapurna Yojna

=1qurt 7T

(iv) All of the above
IR Gl
4-994 GG (1I) Eco (CC-06) Page : 5/8
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COPYRIGHT RESERVED GG(ll) —Eco (7)

2020(New)

Time : 3 hours
Full Marks : 70

Candidates are required to give their answers in
theirown words as far as practicable.

RIST TITT5T 3797 Feel F 8 3w & |
The figures in the margin indicate full marks.
3977 % 3% gl % Daw & 1
Answer from all the Groups as directed.

fmgem s avet & R E |

Group - A
Qug - H

(Objective Type Questions)
(g8 wo)

1. Choose the correct answer of the following

questions : 2x10 =20

frefaftad el 1§ & Tt I H T R
(a) Baumol's modelis related with the following : .
TJ-153/5 (Turn over)

Scanned by TapScanner
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a1 Hige Gafta @
() Perfect Competition
qof wfeenfirar @
(i) Monopoly
TR |
(i) Oligopoly
HeqTirR @
(iv) None of these
T @ S 7@

(b) Full cost pricing theory is known as :
qof ATa i Fruior fagrea s siman @
(i) Average Cost Pricing Theory

3ftaa @mTa hma fufor frgra
(i) Marginal Cost Pricing Theory |
Hira @mTa i i fagia
(iii) Both(i)and (i)
(i) & (ii) @i
(iv) None of these

T4 4 I8 T

TJ-153/5 (2) Contd.
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(¢) Following is included in full cost price :

ol ST i e
() Average Direct Cost
AT Yo T
(i) Overhead Cost
3fraa Iuftery
(iii) Normal Profit
HH ™
(iv) Allofthese -
¥ | ot

(d) Economic Rent of afactoris :
Teh 94 bl AT T @ -
() PresentIncome —Transfer Earning
- FAaH A — TERUIE

(ii) Transfe'r Earning — Present Income
T A — FAHH A

(iii) Both (i) and (ii)
(i) @ (i) 2

(iv) None of these

T & FIS T

TJ—-153/5 {3) | (Turn over)
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(e) The Uncertainity theory of profitis given by :
o™ 1 i fverdan g fea R
() Knight
qrge
(i) Clark
ESIED
(ili) Marshall
LN
(iv) Keynes
- _
() Walrasian Model of equilibrium is related with
TTRH 1 Yo Hisd daied @ :
() Partial Equilibrium
ST Hge
(i) General Equilibrium
I Fger
(iii) Both (i) and (ii)
() d (i) A
(iv) None ofthese

T 9 1S TE

TJ-153/5 (4) Contd.
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(@) Cobweb model explains :

Hiaad qisd AT R

() Dynamic Stability
Wi fera

(i) Static Stability
fds R

(iii) Both (i) and (ii)
(i) @ (i) qt

(iv) None of these
T @ IS T

(h) Equilibrium in Welfare Economy by Pigouiis :

v & AR Fearr eferaeen § Eer ¢ :

() MNSP=MNPP |
T 1 W S = W g e
34Te

(i) MNSP > MNPP
Wﬁﬂamm > Fﬁﬂﬁﬂﬁﬁiﬁ
3dIq

(iii) MNSP < MNPP
el Y e 3ee < WA el
KIRiH

(iv) None of these

T @ IS T

TJ—153/5 (5) (Tum over)
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- emwEE WE W T

()  Which of the following economists is related
with social welfare function ?

Fafefiaa srefnfomt § & #¥ wmnfs Feam
B | Halftd @ 7
(i) Samuelsen
AT
(i) Bergson
gt
(iii) Both (i) and (ii)
(i) @ (i) =
(iv) None of these
T @ ¢ 7

() Neumann Morgenster Hypothesis of Utility is
concerned with : '

IRT-ATA Y UG SrauTon gefta @
(i) Uncertainity and Risk
stfafeaar wa sifign
(i) Certainity and Risk
Ffeada wa siiftaw
(iii) Both (i) and (ii)
(i) @ (ii) 2
(iv) None ofthese

T | g T

TJ-153/5 " K0) Contd.

|
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Group -B
@vg - q
(Short-answer Type Questions)
(Fg -3 wew)
Answer any four of the following questions :
| 5x4 = 20

Freferam & & Rt o wwt & s s
2. Explain full cost pricing theory of the firm.

WH < Pl I qou vt Rigra 3 qoi |
3. Write J. B. Clark’s theory of profit.

Sio sfto Faeh & e Rrgra i ford |
4. Briefly explain the Cobweb Model.

IS HiSe 1 GIAW qui 3 |
9. Write an essay on social welfare function.

"IN eI %o W U Frary fad |
6. Write the concept of Savage Hypothesis.

Yl qREEYAT hl STFTURVN ) ford |

Group -~ C
[qug -
(Long-answer Type Questions)
(e -3wtia wew)
Answer any three of the following questions :
| 10x3 = 30

TJ-153/5 (7) (Turn over)
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frerfcraa # @ foreelt e oot & e @

7. Critically examine the Baumol's Sales
Maximisation Model of the firm.

aTAe o %Y o forshl s1freran niga &1 ST
qeor & |

8. Whatis Rent ? Explain Modern Theory of Rent.
TTH 1 ? ATH & e fagra @1 avia &6 |

9. Analyse Walrasian general equilibrium analysis.
TCE & AR G farvetsor ) sqren &t |

10. Explain the concept of Pigovion Welfare
economics.

7] & ST 1R it sTguren i foewar |

11. Critically examine Neumann Morgenstern Index.

AF-TEA GaHieh H1 STAHATHS &0 L |

%

TJ — 153/5 (250) (8) GG(Il)—Eco (7)
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COPYRIGHT RESERVED GG(ll) - Eco-(7)

2021 (New)

Time : 3 Hours
Full Marks : 70
Candidates are required to give their answers in

their own words as far as practicable.
qRIETTedl FURE ST Wl H & ST
Figures in the margin indicate full marks.
R 3R R R g s qoite PR e 2
Answer from all the groups as directed.
fFrdarar o @vel | W §
Group-A
(Gve—3)

Objecfive Type Questions
(g 7w)

BH-714 GG (I)-Eco-(7) Page : 1/11
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1. Choose the correct answer of the following

questions: 2x10=20
FrefoRad WAl # 1 el S} Bl TgT B:
Ad) The author of the Book Principles of Economics
is:
T 3G gPIHIHed J&dd @ Al &
(i) Adam Smith
Teq A

(}) Alfred Marshall

TS A

(i) R.G Lipsey

RSN, forsd

(iv) None of these
T 9 P T

BH-714 GG (ll) - Eco - (7) Page : 2/11
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(b) Concept of Price Adjustment in market

equilibrium is given by:

TR Ao H DT JERISH @ rauRon & &

(i)  Walras
qTeRd

(i)  Marshall
BN

) Two of the above
SWRIGT gHI
(iv) None of the above

IWRIGd H ¥ Blg 76!

(c) Which of the following considered Profit as a

dynamic Surplus:

ey % Qoo o9 BT TS SRR AT &

BH-714 GG (Il) - Eco - (7) Page : 3/11
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()  J.BClark
oL, T

(ii) F.H Knight
Th. U4, qige

(i Mrs John Robinson

ERERvIEREa
(iv)  None of these
T I T
(d) Managerial theory of firm is given by:
BH BT HeRIag Rigrd foar &
(i)  Bain
A

(i)  Williamson
faferaaa
(iii)  Hall & Hitch

gl TS fed

BH-714 GG (ll)~Eco,-(7) Page : 4/11
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9\!) None of these

T A 3
(e) Father of Welfare Economics is:
AR N & T &
() Pigou
]
(i) Pareto
e
(i)  Kaldor
TR
(iv) Hicks
R

() Pareto’s Welfare Economics is based on:

Wm‘waﬁwwﬁﬂﬁwﬁm%:

(i) ~ Cardinal Concept

ILGICIECAIRl]

BH-714 GG (Il) - Eco - (7) Page : 5/11
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(9)

BH-714

jji) Ordinal Concept
shHATID HIRUTT

(i) (i) and (ii) both

(i) g (i) <Y
(iv) None of these
& ¥ BE T
Savage Hypothesis is related with:
A IRFGT TR &
(1) Risk
SIRaH
(i)  Uncertainty
AT
(iii¥ Both of the above
SENECECE]
(iv) None of the above
SWRIFd § ¥ B T |

GG (ll) - Eco - (7)
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(h)

(i)

BH-714

Which of the following Economist is Associated

with Impossibility theorem?

Pt 9 B T ST g & i
2 |

(i) Pigou

dr

(i) Pareto
el
(i) Hicks
fead
V) Arrow
Bergson-Samuelson Social Welfare Function

is based on:
TR GHITaS HeToT Bor e 2
(i) Explicit Judgements

WE Joga Al )

GG (ll) - Eco - (7) Page : 7/11
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(i) Implicit Judgements
IR Yednd Al W
(i) and (ii) both

(i) Td (i) TF1 W

E

(iv) None of these
T 9 BIg e
)] Neo Classical theory of Interest is also known
as:
S & d WERMETE Rigd @1 Sl Siidl &

51) Lonable Funds Theory
0T AT By g

(ii) Liquidity Preference Theory
aRerdl gg=<l g

(iii) Modern Theory of Interest
& &7 YfHe Rigr

(iv) None of the above
SRIad H § B el

BH-714 GG (Il) - Eco - (7) Page : 8/11
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Group - B
(Tus—3)
Short Answer Type Questions

(s rew).

Answer any four of the following questions: 5%4=20

o Explain Behavioral model of Cyert ang March.

Rgd T4 A1 & TIERAE Aied FT a0 @y )|

‘E/Examine Liquidity Preference theory of Interest.

mzﬁmqﬂaﬁﬁﬁﬁmwﬁwﬁ\

i 4., Write short notes on Existence of Equilibrium.

¥iqer & JfRacd W U Wil feued) Ry

5.  Explain Arrow's Impassibility Theorem.

W @ AT NG BT U & |
BH-714 GG (Il) - Eco - (7) Page : 9/11
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6.  Write an essay on Neumann-Morgenstern Index.
~p-Antves qEe W 0F e ford |

Group-C
(@ve—9)
Long Answer Type Questions

(S-S 1)

Answer any three of the following questions: 10x3=30
Freferia & & fegt O vl & SR o

j/ Critically analyse Bain's Limit-Pricing theory.

1 & A B R Rigra @ siTerree. adeT
& |
\/B./ Explain Marginal Productivity theory of Wages.

Agdl & WA ScaIedhdl RIgrT o auiF &y |

BH-714 GG (ll) - Eco - (7) Page : 10/11
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write Marshall’'s market Equilibrium analysis,

el @ AN WA TR B Ry |

40 Critically examine Pareto’s optimality conditions.

q@ﬁa—j@aﬂﬂ?ﬁzﬁaﬂmﬁmaﬁl

(1. Analyse Consumer behavior under Uncertainty.

ff¥adar # ST & 2aeR B amer oy |

BH-714 GG (Il) - Eco - (7) Page : 11/111

/’7
~

nnnnnnnnnnnnnnnnnnnnn



" 11 . JLIL) S - -
At . P
o o A

Scanned with CamScanner




Scanned with CamScanner




Scanned with CamScanner




Scanned with CamScanner




Scanned with CamScanner




Scanned with CamScanner




1
c
c
@
o
@
£
1
o
£
3
°
@
c
c
5
o
%]




Scanned with CamScanner




COPYRIGHT RESERVED GG (ll) Eco (CC-07)

(Session : 2021-23)
(New)

Time : 3 Hours
Full Marks : 70

Candidates are required to give their answers in

BH-995

their own words as far as practicable.
Qiemell Jorreg o weal H IR < |
Figures in the margin indicate full marks.
R AR R 3§ R gy s Qe At o &
Answer from all the groups as directed.
MR W @vsl ¥ 9T < |
Group-‘A’
(ave—a)
Objective Type Questions

(a¥gfTs W)

1.  Choose the correct Answer of the following
guestions : 2x10=20
fFrfeiad wei H 9 el IR 1 g B |

BH-995 GG (Il) Eco (CC-07) Page : 1/8
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(e) Component of insurance is :
&1 o1 9T §
(i) Premium
Uit
(i) Policy limit
et ) < 4
(iii) Deductibility —
(v) Alloftheabove |
=8 U} Liquid_ify_gﬁm'.
with:

.:,[r;.-
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Group-‘B’
(@ve—7)
Short Answer Type Questions

(g~ ¥)

¢ Answer any four of the following questions : 5x4=20
b o # & ] IR vl & 9w <)

2. Explain behavioral theory of Cyert and March.

| Rrae v 91 & agrard g @1 avfF &Y

: 3. Analyze Modern theory of Rent.
oI & IS NG @1 fagersor &y |
4. Write an essay on Cob- Web model.

HGSINTel Aleel IR T (e ford |

:5. Throw light on compensation principle of Hicks.
few & &ifqyfd g W Jer <ied |

Write Neumann-Morgenstern Index.
GHA-ANE qadid @ ford |

GG (Il) Eco (CC-07) Page : 7/8
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Answer any three of the following questions :

Prferiad # & fredt 09 Tl & SR <

i

8.  Critically analyze Neo-classical theory of intere
9. Write Marshall's General equilibrium Anall
i & S g R B R
10. Examine Pareto’'s Optimum conditlo@
economics.
FHA] JATA DY W B e Yl B e N |
11.  Analyze Consumer Behavior Under Uncertalnty
affede § Swlige & 2ER O aran )
ssee -H
BH-995

Group-‘C’
(@ve—4)
Long Answer Type Questions

(E—STRIg ve)

Explain Williamson's Theory of the firm.

faforme= & B9 @ Rigd @1 aviF & |

. GG(NEco(CC07) |
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COPYRIGHT RESERVED GG(ll) —-Eco (8)

2020(New)

Time : 3 hours
Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.

I FAr7597 3793 71 5 & 397 &
The figures in the margin indicate full marks.
391 & 3% QUi % ziaw &
Answer from all the Groups as directed.
FREemgar oyt @vet @ 3w 3
Group - A
Qug - H
(Objective Type Questions)
(TEgFE w99)
1. Select the correct answer of the following
questions : 2x10=20
frfaftad wedl 4 9 ot o o s =

(a) The propounder of “Real Balance Effect”

theoryis:

(Turh over)

TJ—154/6

!
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“areafas v fagre & e § -
() Don Patinkin
gia-Afeafe
(i) Keynes
B
(i) Milton Friedman
fieea dretq
(iv) Robertson
Uadaq
(b) Who has accepted that the theory of demand

for money is the general theory of demand
for capital assets ?

forert 7z w2 o6 g ot win a1 g fima
ufcawafaat Y =i =1 qme fagra @ 7
(i) Irving Fisher (i) Miiton Friedman
Ffeam fmm faeen dista
(iii) Don Patinkin  (iv) Baumol
gl Afeafea LILI

(c) The demand for liquidity is interest relative
in the case of which motive ?

TJ - 154/6 (2) Contd.

Scanned by?'g;-)Scanner
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et St @ <t i e Y win s ER Y At

27

() Transaction (i) Precautionary
- B <

(ii)) Speculative (iv) Allofthese
HEl T ° ot

(d) Whatis correct about IS curve ?

IS 95 & Ty | 1 TE 8 ¢

(i) Expresses the equilibrium of monetary
sector
s & % Yol ! ITh HLAT

(ii) Related to the equilibrium of real sector
rieres & § T § S @

(ii) Income decreases when the curve goes
to the right
et AT WG @ ST W il @

(iv) When the income is high, the rate of

interest is also high
A F S TR A < 3w gt 2
(e) Phillips Curve shows trade off between which

factors ?

TJ—-154/6 (3) (Tumover)
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Ffore o -0 o 5 e R S w
R7 o
(i) Wage rate and inflation

gl &t aun whfd
(i) Unemploymentandmerate
s awn wegh &
(iii) Unemploymentand Infiation |
e awn whf o
(iv) Allofthese X g A,,,,.
() Who has given the idea of “Inflationary i
Gap™? e
a7 Lo

Scanned by TapScanner
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" e gy
() Keynes - (ii) Samuelson
*F A
(iii) Hawtrey (iv) Hayek
L4rA [LE7

(h) Which economist has contributed in New
Classical Macro Economics ?

a9 Frtyeh gufy sfvra d e srdameft &
QPRE R ?

(i) Milton Friedman (ii) Robert Lucas
fiee sisiA Tad gad
(iii) Arthur Lafer (iv) Hawtrey
sk AW
(i) Accordingtothe supply side economics, the
main cause of economic imbalance is :

qfd va & et % AR e sAferar
7T FR 8 - ¢
(i) Monetary Policy .
iz fifd
TJ—154/6 (5) (Tum over) /
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(ii) Adverse Supply Shocks
sterger qid s
(iii) Fiscal Policy
NEEALIDEI
(iv) Inadequate Supply
sty gfd
() Which phase of trade cycle is related to
Rostow’s drive to maturity ?

R T5h 6l HI-d 27981 WL F gigaadr
N e | e @ 7

(i) Depression (i) Recovery

A=t G

(iii) Prosperity (iv) Recession
s gt

Group - B
Qs -4
(Short-answer Type Questions)

Answer any four questions of the following :
5x4 = 20

TJ-154/6° (6) Contd.
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Frrfesfian 3 @ et wme st 3 3 3

Explain briefly Milton Friedman's approach to
Demand for Money.

freea et gra w0 win & sfrmtn £ i
faa 2

3. Describe the Neo-Classical Theory of Interest.
I & Faufafed fagra ot a6t |

4. Wirte a short note on Structural Inflation.
TS Thifd 9 ue wftqm feoqoft fad |

5. Explain the various phases of Trade Cycle.
SR = i fafira sraenet 1 vk # |

6. Describe the main features of the supply-side
Economics.

@_qamﬁg@%ﬁwaﬁmaﬁaﬁl

Group-C
@us - ¥
(Long-answer Type Questions)*
(ﬁd'ﬁﬂu m) R '!'

ns of the following :
- 10%3=30

i ¥

Answer any three questio

TJ—154/6 (7) ~ “{rrumover)
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fAerferfaa o & foreeff ot wt & s @

7. Discuss Don Patinkin's Real Balance Approach
in relation to demand for money.
€ Wt % areafas S gt 6 gz £ win &
-y | fadem et |

8. Discuss the modern theory of Interest. (IS-LM
Curve Model)
=TS o yfe fagra Y sarea w2 | (IS-LM 3
Hisq)

9. Critically analyse the Phillips Curve Theory.
forforen o frgr=a <t 3nreirrTeRe: saran &t |

10. Describe the Samuelson’s Theory of Trade

Cycle.
YT & AT w56 g o1 aviq &Y |

11. What is New Classical Macro Economics ?
Discuss the important hypothesis of the New
5 classical Macro Economics.

g -FeiE qmfy 3 TR ? 9wy anfe
spefane ) gen waweaet i Rt |

\/
0.0

T - 154/@.(250) (8) GG(Il) —Eco (8)
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COPYRIGHT RESERVED GG (If) Eco-8

2021 (New)

Time : 3 Hours
Full Marks : 70
Candidates are required to give their answers in

their own words as far as practicable.
e TR A Rl A & SR
Answer from all the groups as directed.
fFdaraR ® @vel ¥ SR <|
Group-A
(avs—)
Objective Type Questions
(s )

1. Select the correct answer of the following

b queshons gan i b 2x10=20
-ﬁﬂ%@ﬁmﬂ‘rﬁﬁﬂ‘é’lemwﬁ{aqﬂﬁ
. i '-'BH-':-715',,-‘:"? - GG(Il)Eco-8 Page : 1/12
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1

(a) Who has propounded "“The Risk Aversion

Theory of Liquidity Preference” of Demand for

money?

qel @ AT B OCWRGH RO GReRT 3w
Rigra forem wfomfea foar 87

(i) Don Patinkin

S YfeAfh
(i) Baumol
CIEI
(i) Tobin
cifem

(iv) Robertson

NERRIE

(b) Baumol's inventory Theoretic Approach relates

to which type of demand for money?

BH-715 GG (Il) Eco-8 Page : 2/12
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aﬁﬁma%"mmﬁhﬂ:mmwﬁmm%gm
D AT A AR 7
(i)  Transaction
-
(i) Precautionary
bl
(iii) Spec|ulative

(i) R (i) T

(iv) Both (ii) & (ii

(c) When the money supply increases, the LM

curve-

a1 gfd A glg 8 W LM s

(i)  Shifts to the left

(i) Shif‘fs right upwards
/ BH-715 GG (Il) Eco-8 Page : 3/12
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gl AR SR Rava &
(iiiy No change

uRafif vear &
(iv) False from up to down

R ¥ 1 @ AR xar §

(d) The theory of interest based on I[S-LM

functions has been propounded by-

IS T LM BT & JMR W A B Rigr
R Rl 2
(i) Swedish Economists
(ii() Neo-Keynesian Economists
- ~Tge I
(i) Monetary Economists
gf:ra@ CBNIES
(iv) Classical Economists

BH-715 GG (Il) Eco-8 Page : 4/12
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UURTATS) areferre

(e) A situation of high inflation and large

unemployment simultaneously is called-

Rerfer @1 w=1 SIram 28—

(i)  Deflation
T

(i) Reflation
GRIR]
(i) Stagflation

fede wmif
(iv) Disinflation
AqEHIfer

()  When does the Cost Push Inflation came up?

AT IR I FY I BT o7

(i)  Increase in Wages

BH-715 . GG (Il) Eco-8 Page : 5/12
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1]'\'5'1‘(’128 & qe

(i) Increase in Profit

R B g1 |
(iiiy Sudden Decrease in supply
o 3 o B A A
Av) All the above

SR I

(g) Schumpeter's Theory of Trade cycle is based

on which factor-

i yfler NI IRQA AR w6 RIgrd o d@ W
SRR &7
() Interaction of multiplier and accelerator

ToTey G IR B R 5

(i) Innovation

9 Yo

(iii) Over investment

BH-715 GG (Il) Eco-8 Page : 6/12
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SIRIBC
(iv) Under consumption
T YV
(hy Howthe trade cycle can be controlied?
AR oHh BT DA =T e s owewar @92

(@) Monetary Policy

(i) Fiscal Policy
fa<tra -hfa

(iii) Stabilization Policy

Rerrmror i

(iv) All the above

SURTaA ]
() Which is not a hypothesis of New Classical
Macro Economics?
BH-715

GG (Il) Eco-8 Page : 7/12
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7 a1 uReu, AqaeRi THR JfIRE @y

el 87

(i)  Markets continuously clear
iR fR=R e

(i) Rational Expectations
frdrerget ey

(i) Aggregate Supply Hypothesis
Hol—gfd IREUT

- (iv) 'Effectivé Demand Management

gaTgqol AT e
1), Who is not a New Keynesian Economist?

B T By FfARAT TR 87

(i) George Mankiw

SiTsl Hefchg

(i) Robert Gordon
NECRISE
BH-715 GG (ll) Eco-8 Page : 8/12
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(i) David Romer

Sfie R
(y) Robert Lucas
e A
Group-B
(@)
Short Answer Type Questions
SERRILRLY)
Answer any three of the following questions: 5%x4=20
frrtieivad | ¥ i1 @9 Tl @ SR

2. Explain briefly Tobin's approach to Demand for

Money.
e R A T P A & Redr o1 e faor
<|

_3- Describe the Keynesian Theory of Interest.

4 & AN & Mg P 9o B |

BH-715 GG (I1) Eco-8 Page : 9/12
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4~ Write in brief the policies to control inflation.
s
e = & Aferdt o warg ¥ ford |
_5. Give a short description of Hick's Theory of Trade

Cycle.

R & @UR 9% NG & U6 Wit fdavor <)

6. Explain the differences between New Classical and

New Keynesian Macro Economics.

Wwﬁaﬁmwﬁum&aﬁwﬁww

N |
Group-C
(Eve—)
Long Answer Type Questions
(@SR 7 )
Answer any three of the following questions: 10x3=30
frefofad & & fol 39 ool & SaR &

BH-715 GG (ll) Eco-8 Page : 10/12
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iscuss Baumol's approach to Transaction demand
7

for money.
e % R0 S ) A 3 e e e
@l Wﬁ[

-—

8. Describe the IS-LM model of interest Explain the role

of government's Monetary and fiscal Policies with

the help of IS-LM Curve.

AW F ISAM Hed B D W IS-LM Hed @
T W WOR D e Ay o e A @
YT BT W W |

a_2  Critically analyse the Monetarists Approach to

Inflation.

TR & FeTaral SRedvr B el e 5 |
_JO. Evaluate Schumpeter’sr Theory of Trade Cycle.

TR & AR T Rigr o i av|

“-

BH-715 . GG (Il) Eco-8 Page : 11/12
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11. Explain the concept of New Classical Macro
Economics? What are the Policy implications of New

Classical Macro Economics?

9 FoIye) GAfe v &) aURN Bl WL Y | 9
TR e afurey & i gt @ 82

SN

- BH-715 GG (Il) Eco-8 Page : 12/12
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COPYRIGHT RESERVED GG (Il) - Eco- (CC-8)

2022(New)
Time : 3 Hours
S Full Marks : 70
© [Candidates are required to give their answers in
c:E their own words as far as practicable.
weeff g e el # SR <
Figures in the margin indicate full marks.
R ok B 3 R &7 o it e 7w 2
Answer from all the groups as directed.
RraTeR & @vet ¥ S <
Group - A
[@ws - 3)
(Objective Type Questions)
(aegfT 57)
1 Select the correct answer of the following
questions: 2x10=20
frfeRad el 4 & TE SR &1 9T Y

BH-051 GG (Il) - Eco (CC-8) Page : 1/8
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COPYRIGHT RESERVED GG (ll) Eco (CC-08)

(Session : 2021-23)

Time : 3 Hours

BH-996

Full Marks : 70

Candidates are required to give their answers in

their own words as far as practicable.
I} FATEG 3T e H TN < |
Figures in the margin indicate full marks.
TRy iR R 3 R gv o Qe Rffe o §
| Answer from all the groups as directed.
freemgar o @vel ¥ SR < |
Group-A
(Gs—)
Objective Type Questions

(a¥gfe )

1. Select the correct answer of the following
qguestions : 2%x10=20

fy=forRad vedl # 9 W8 Ik B W
BH-996 GG (1) Eco (CC-08) Page : 1/8
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COPYRIGHT RESERVED GG(ll) —Eco (9)

2020(New)

Time : 3 hours

Full Marks : 70

Candidates are required to give their answers in

their own words as iar as practicable.
The figures in the margin indicate full marks.

Answer from all the Groups as directed.

Group —-A
(Objective Type Questions)

1. Select the correct answer of the following
questions : 2x10 =20

~~ (a) The mean of 15 numbers is 15. If the two
numbers 18 and 12 are excluded then the

mean of remaining numbers is :

@i 10
(i) 12
TJ—155/6 (Tum over)

Scanned by TapScanner
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TJ-155/6 (2) Contd.

Aiii) 15

(iv) 25

(b) Standard Deviation is always computed

from:

(i) Mean

(i) Median

(iii) Mode

(iv) None ofthese

(c) The value of Karl Pearson's correlation

coefficient lies between the following limits :
(i) -1to+1 1
(i) Oto-1 ﬂ
(iii) Oto+ 1 .
(iv) Oto 2

(d) Choose the correct formula of Karl Pearson’s

coefficient of correlation :

@i r=
¢ \F‘Zﬁxzﬁ

Scanned by TapScanner
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(i) r=- L -
NS X2 x 3 y2

(iii)) r= Nixy _
x? 3y?
N N

(iv) None of these

(e) Index Number was used for the first time to

compare the changes in prices for the year :

»# (i) 1750 with the price level of year 1500
(i) 1750 with the price level of year 1600
(iif) 1750 with the price level of year 1700
(iv) None of these

() The formula of Index Number given by

Paascheis :
2P{9
: - 1 400
) Po1= Tpoa
- 2':-213—1— x 100

/(ii) Po1= 2Py

TJ-155/6 (3) (Tum over)

Scanned by TapScanner
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(9)

®

L+P
(iv) None of these

Under the Normal Distribution Curve, X + 2d

- covers the area :

(i)/ 68.27%

(i) 95.45%

(i) 99.73%

(iv) 98.27%

The probability of getting at least two heads
in a simultaneous throw of three coins is :

W Y
@ %
i) Y%
M }3

(i) Time Series Analysis helps in :
(i) Predicting the future
(i) Comparing the expectations with the
reality
TI-155/6 (4) Contd.

Scanned by TapScanner
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/(iii) Both (i) and (i)
(iv) None of these

() Following method is of measuring trend
values :

() Method of Moving Averages
L) Method of Least Squares
(iii) Method of Semi-Averages
(iv) Allofthese

Group-B
(Short-answer Type Questions)

Answer any four questions of the following :
5x4 =20

2. Calculate the Quartile Deviation (Q. D) from the
data given below :

Age No. of Students
15 4
16 6
17 - 10
18 15
19 12
20 9
21
TJ—155/6 (5) (Tum over)
o
et I

Scanned by TapScanner
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3. Define Index Number. Analyse the use of Index
Numbers.

4. Write a short note on Addition Theorem and
Muiltiplication Theorem of Probability.

9. Describe, in brief the procedure of Testing
Hypothesis in large Sample.

6. What is time series ? Why we need to analyse
the Time Series ?

Group-C
(Long-answer Type Questions)

Answer any three questions of the following :
| 10x3 = 30

7. Calculate Karl Pearson's coefficient of skewness
from of following data :

Marks No. of Students
0-10 10
10-20 40
20-30 | 20

30 - 40 / 0
40 - 50 - 10

50 - 60 40
60 - 70 16
70-80 14

TJ—155/6 (6) - Contd. -

Scanned by Tapchﬁner

Scanned with CamScanner



8. Calculate the coefficient of correlation between X
and Y from the values given below :

ol X
| 78
89

97

69

59

79

68

61

9. What is Normal Distribution

i X

|
1

various characterics.

Y
125
137
156
112
107
136
123
108

? Discuss its

o

10. Compute Laspeyre’s and Paasche’s Index

Numbers from the following data :

items Base Year Current Year
Price | Quantity | Price Quantity
A | 5 25 6 30
B 3 8 4 10
C 2 10 3 8
D | 10 4 3 5
TJ—155/6 (7)™ (Tum over)

- oo AT TS,
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11. Calculate trend values by the method of least
square from the data given below :

Year Value
2002 75
2003 67
2004 68
2005 65
2006 50
2007 54
2008 41
0‘0
(2
|
|
!
l
|
TJ - 155/6 (250) (8) GG(Il) —Eco (9)
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COPYRIGHT RESERVED GG (Il) ECO-(9)

2021(New)

Time : 3 Hours
Full Marks : 70
Candidates are required to give their answers in
their own words as far as practicable.
Figures in th::—; margin indicate full marks.
Answer frorgrfl' all the groups as directed.
Grbup-A
Objective Type Questions
1. Select the correct answer of the following
questions: 2x10=20
(a) Data Originally Collected in the process of
Investigation are known as:- |
,,Li) Primary Data

(i) Secondary Data

BH-716 GG (Il) ECO-(9) Page : 1/7
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(b)

(c)

(d)

BH-716

(i) Both (i) and (il)

(iv) None of the above

The Standard Deviation of a Sampling
distribution of statistics is known as:-
‘Q% Standard Error (S.E.)

(i) Parameter of a Population

(iif) Hypothesis

(iv) None of the above

If the value of Kurtosis is equal to 3 (8, = 3j
then the curve will be:-

M) Meso kurtic

(i) Platy Kurtic

(iii) Lepto Kurtic

(iv) All of the above

Coefficient of variation is given by which
formula: -

(i) o/

(i) %/o

GG (Il) ECO-(9) Page : 2/7
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() £/ x 100
(V) /¥ x 100

(e)  Which Method shows the ‘Line of best fit" -
()  Moving Average Method
(i) Semi- Average Method

dﬂi}'f Least Square Method

(iv) None of the above
()  Absence of Correlation means is that:

() Different points of two variables is

Scattered
(i) Certain trends is not clear
i) - Both (i) and (ii)
gv) None of the above

(@) On which Average the Fisher's formula of

Index Number is based: -
(i)  Harmonic Mean
(i)  Arithmetic Mean

{ji) Geometric Mean

BH-716 GG (ll) ECO-(9) Page : 3/7
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(iv) All of the above

A Statistical hypothesis is a tentative statement

(h)

about the value of: -
9 Population Parameter
(i) Sample statistic
(iii) Both (i) and (ii)
(iv) None of the above

(i) Boy's theorem of Probability helps a statistician
to caICL'JIate:- -
(i) Prio; Probability
(i) Posterior Probability
(iii)  Both (i) énd (i)
(iv) None of the above

(). Student's t-test is mainly concerned with:
@, Small Sample Distribution
(i) Large Sample Distribution
(iii) Both (i) and (ii)
(iv) None of the abdv’e

BH-716l GG () ECO-(9) Page : 4/7
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Group-B
Short Answers Type Questions
answer any Four Questions of the following: 5x4=20
% (a) Whatis Mode?
(b) If Mean (%) = 12.9 and Median (M) = 12.1 then
find the value of Mode (2). 6. <

3~ What do'you mean by Regression Line? Exp]ain.
p}(ﬂ,/ What is an Index Number? Examine the various

problems involved in the construction of an index

Number.

\'}, Discuss Binomial Distribution with its main
e Characteristics.
6. What are the main Components of Time Series?
Group-C
Long Answers Type Questions
Answer any three Questions of the following.  10%3=30
7. Find the measure of Kurtosis of the following -

distribution:

BH-716 GG (Il) ECO-(9) Page : 5/7
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ABOIN | 2025 | 26.30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55 | 5560 | go.gg
Years:
Wbl 6 8 1 14 | 2t | 15 11| 9 5
Employees:

B Find Coefficient of Correlation by Rank of difference

te ey
method from the following distribution:
X 5. 20 |- 22 24 25 30 32 28 21 26 | 35
Yi {1616 [.20. 21 [ 19 [ .18 | 22 | 24.| 23 | 25

0,321 2L

o \}/ (a) Explain Various Method of Constructing Index

Number.

(b) Compute Laspeyere's and Fisher's Index

Number from the following data:

Base Year Current Year
Items
- Price Quantity Price Quantity
A Bl g 50 10 56
B 2 100 2 120
C 4 60A 6 60
D 10 30 12 24
E 8 40 12 36

R L 2 39,7058
BH-716 ~_ GG (Il) ECO-(9)
' \n%.399g .
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|

'

19/ (a) Explain the meaning of Time Series,

Least Squares from the following data:

Year:

2010

2011

(b) Calculate the trend Values by the method of

2012

2013

2014

2015

2016

Value :

80

90

92 -

83

94

99

92\

11.

2\, 86,88, Q0 1 92,9Y, q¢

What are the main Desirable properties of on good

Estimator of the Population Parameter? Describe.

BH-716

GG (Il) ECO-(9)
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COPYRIGHT RESERVED  GG(ii) — Eco (AEC)
Env. Law & Policy

2020(New)

Time : 13 hours
Full Marks : 50
Candidates are required to give their answers in
their own words as far as praclicable.
wemell gy 393 vl H @ I |
The figures in the margin indicate full marks.
sia % 3% gl F ahaF 1

Answer from all the Groups as directed.

fZemrgan afl avel 4 3w E |
Group-A
Q@us - A
(Objective Type Questions)
(aregfs 317 )
1. Select the correct answer of the following

questions: 2x10=20

TJ-156/3 (Turn over)
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Prorferftaa 3 @ wd) aw w TET R
(a) Clean AirAct passed firstly by :
mmgaxﬁxﬁmlﬁnunm%&mw :
() Brusn Guveiincns
fafen wewr g1
(i) American Government
i) ATRT B
(iii) French Government
B &I 51
(iv) Canadian Government
FHATSI WER g1

(b) The integrated ‘Department of Environment,
Forests and Wildlife' was established in India
in the year:

vIa | Uigd g, g9 a9 93 sy
aﬁlwmgi:

(i) 1980

(ii)) 1985

(i) 1982

(iv) 1984

TJ-156/3 (% ) Contd.
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(€) "World Environmeny Day'is celebrated every
yearon: |

T watawn fean’ iy od v s -
(). 5" June

(i) 6" June

(iii) 5" November

(iv) 2™ June

(d) ‘The Factories Act’ was passed in India in
the year:

a3 A dis we’ ad # wifa e
() 1946

(i) 1947

(i) 1948

(iv) 1950

(e) ‘The River Board Act'was passed in India in

the year :

w1 ‘4 frag ard R ad 0w gan
(1) 1956

(i) 1966

(iii) 1946

(iv) 1976

TJ-156/3 (3) (Tumover)
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0 ‘Central Ganga Authority was established in
the year
2t i wfuers” @ wf 3 e
(1) 1885
(1) 1882
() 1884
() 1QR2

(9) 'The Naticnal Environment Tribunal Act’' was
passed in the year:

M vt feEa Az’ i § afm e
(1) 1990
(i) 1992
(iii) 1982
(v) 1972
(h) "The Forest (Conservation) Act' was passed
in the year .
aq (wgm) sifufm A | i ean
(1) 19/8
(i) 1980
(1) 1981
() 1982

J—-156/3 (4) Contd.
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i@ gan
() 1974
(i) 1976
(iii) 1978
(v) 1973
0) ‘The Atomic Energy Act’ was passed in the
year
STt siffrm’ & wia gan
(i) 1958 .
(i) 1959
(ili) 1960
(iv) 1962
Group-B
WUs -4
2. Wirite short notes on any four of the following :
5x4 =20
fraferfiga d A el e o wftm fofr ford -
(a) Tiger Project
ara i@
(5) (Tum over)

TJ—156/3
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- h '.'. -nl‘. m‘
w, "-.-|. .-‘-'---

RERAL

(€) Sustainable Development
mfira fremm

(d) Environment Protection Act
yatare gram sfufaas

fe) Paliution Contro! Board

Group-C
Wiz -H

Answer any one question of the following . 10
fr=fafandafmfivmr s m 2.

What do you MEBN Dy ENviuiiimiin 1 Capsan: s

component.

GEiaim | W 7N 855A 2 7 F 97F ¥ a9 o6 |

\VWnte down the Amendments in the Consttuuorn

of the country in the field of environment

wfam%éaﬁ'&n%.ﬁ%\mﬁmﬁﬁmaﬁfaﬁl

TJ-156/3 (6) Contd
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5. Discuss the role of judiciary in Environmental

Protection.

Whmmmﬂmmmﬁﬂﬂaﬁt{fﬁmﬂmﬁaﬂ '

6. Point out the need for a comprehensive National

Environmental Policy.

S Tt gataRen A i 3gga H |

9
0.0

TJ - 156/3 (250) (7) GG(ll) — Eco (AEC)
Env. Law & Policy
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COPYRIGHT RESERVED GG (ll)-Eco- (AEC 1)
Env. Law & Policy

2021 (New)
Time : 1% Hours
Full Marks : 50

Candidates are required to give their answers in

their own words as far as practicable.
wienedl JATETG AT =T A € I < |
Figures in the margin indicate full marks.
arfed aiR R 4 A §u ofp qoie fifde o €|
Answer from all the groups as directed.
FeogaR Wi @vel § o T
Group-A

(avs—i)

Objective Type Questions

(a¥gfs W)

BH-717 GG (Il)- Eco- (AEC )  Page :1/10
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1 Select the correct answer of the following

questions: 2x10=20

Rrafeiaa wel 3 ¥ T8 SR &1 9 BN
(a) Pollution of English is derived from:

3 @7 Pollution fhd R foram T &:

(i) Greek
i
(i) Latin
dfea
(i) Persian
s 9
(iv) Gujrati
TORT ¥

(b) How many Organizations are present in the

environment.
TRy ¥ SuRer b Wee &
BH-717 GG (ll)- Eco- (AEC |) Page :2/10
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(c)

BH-717

(i) 4

(iv) 6

Y.

Wild life Act was Introduced in the Year:
q-ilg I Ueell aR a9 H AT

(iy 1972

(i) 1978

(iii) 1988

(iv) None of these

i B T

GG (ll)- Eco- (AEC ) Page :3/10
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(d) When the National Environmental Policy Act

was Changed into Law.
ey yafaror iR wE A @a oRafda gan:
(i) January 1971
Sae 1971
(i) January 1970
SRl 1970
(iii) January 1980
a8 1980
(iv) None of these
T 9 B T
(e) The Air (Prevention and Control of Pollution)

Act was passed in Year:

Y (et Prarer v Peism) s af § g
o

BH-717 GG (Il)- Eco- (AEC 1) Page :4/10
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(f)

BH-717

() 1981

(i) 1982

(i) 1971

(iv) 1991

Which of the following has the most genetic
diversity in India:

Frr & 9 R & Rl ol arpaiRie R

&

() Teak

(i) Tea
qrg

(i) Mango

M

GG (ll)- Eco- (AEC 1) Page :5/10
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(9)

- (h)

BH-717

(iv) Potato

i
Most Stable ecosystem is:
T 3ifte Rer iRRerfde @5 &
(i) Forest

GEl
(i) Desert

A
(i) Ocean

g
(iv) None of these

T W B T

71% earth surface is covered with:
71% Pl Tl S gan B

(i) Land

i

GG (ll)- Eco- (AEC )] Page :6/10
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(i)  Air
g

(i) Water
vicl

(iv) Coal
PG

()  Green House gas is:

TH B89 19 ¢

() Nitrogen
g5 1o

(i) Oxigen
3T

(iii) Methane

EIDE

(iv) Carbon dioxide

1 O G S ERC CASIESS
BH-717 GG (I1)- Eco- (AEC I) Page :7/10
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() The National Environment Appellate Authority

Act was passed in the year:

WS waiaee dicnd iRkl A g
qika fan Tan o

(1) 1997
(n) 1987
(i) 1947
(iv) None of these
& | Bl Tl
Group-B
(@ve-3)
Short Answer Type Questions
(g uw)

2. Write Short notes on any four of the following: 5x4=20

Frafeftaa 3 3 ) IR w it Rl fr:

(a) Environment and Development
QAR UG faer

BH-717 GG (I}~ Eco- (AECl)  Page :8/10
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(b) Forest conservation Act, 1980

T TRV I, 1980
(c) Wet Lands
T
(d) Public Intest Litigation
e drg

(e) Man's moral role in the field of Environment
TR & &3 § A9 A AR e

Group-C
(@re—)
Long Answer Type Questions
(Srd-Sawg 7E)

Answer any one question of the following questions: 10
Prafefad & ¥ f5edl U@ 599 @ SR <
3. Explain the necessary Present view point for the

environment.

yafaRYl ¥ HGWH TG GREAI FI G |
BH-717 GG (1)~ Eco- (AEC 1) Page :9/10
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4 Discuss the Bio diversity and its scope.

5. Discuss the major factors of Sustainable
Development.
e e & W@ TC 3 ARAl B |

6. Write down the effects and remedies of Air pollution.

1Y YSEV & YA U4 AR B ford |

BH-717 GG (ll)- Eco- (AEC ) Page :10/10
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COPYRIGHT RESERVED GG (ll) - Eco (AEC-1)
Env. Law. & Policy

2022(New)

Time : 1; Hours

Full Marks : 50

BH-053

Candidates are required to give their answers in

their own words as far as practicable.

Il JITg ST WRl SR 4 |
Figures in the margin indicate full marks.
TR AR R R gy o i R e £
Answer from all the groups as directed.
RrTaR 4 vl ¥ SR ¢
Group-A
(ave-—3)

(Objective Type Questions)

(g7 7%)

1. Select the correct answer of the following
questions: 2x%10=20
fyeferRad weAl # W e STR @1 94T I :

BH-053 GG (Il) - Eco (AEC-1) Page : 1/8
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COPYRIGHT RESERVED

1.

GG (Il) Eco (AEC-I)

BH-998

(Session : 2021-23)
(New)

Time : 2 Hours

Full Marks : 50

Candidates are required to give their answers in

their own words as far as practicable.
Wiemefl Joa U Rl H STR G |

Figures in the margin indicate full marks.

e AR foar o &3 U ofF quiie fAfde avd 2 |

Answer from all the groups as directed.
Freargar 9 @vel 9 S < |
Group-A
(avs—3)

Objective Type Questions
(gfTs )

Select the correct answer of the following
guestions : 2x10=20
frferae Tei # 1 el SR FI oG DY ¢

BH-998 GG (Il) Eco (AEC-I) Page : 1/8
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)

Answer any four of the following duestion;s;';;;ﬁj

feferfa geat % 9 fvgl IR 37 SN © :

Ground Water Bill of 1970 was ameﬁ

year :

1970ﬁmﬁﬂwwmﬁmﬁm

() 2011
2011 H
(i) 2016
2016 H
(iii) 2017
2017 H
(iv) All of the above is correct
S o el ©
Group-B
fas—3)
Short Answer Type Questio'ﬁ;%_;.\ o

(cTg ST ¥9)

T ==
Ly

) I
" !

e e Y 0 Rl Rl

Analyse National Water Policy. |
R

RS St AT B forgermor ﬁl P

BH-998

GG (II) Eco
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Write strength and weakness of Environment

Protection Act.
ARV EREVT ST B 0 UG FHANG By o |
Write short note on Public Trust Doctrine with

reference to environment.
T & oW W Ade e Rigid ® e G
feaufl ford |

6. Explain the various policies for Conservation of

Dolphin in India.
ifeh TR 8] YR 1 = Hifadl &1 9o o |
Group-C
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Long Answer Type Questions
(el ST o)
Answer any one question of the following : 10x1=10
g H ¥ bl U@ @l IR «
Write down the effects and remedies of Air Pollution.
-GN & YTG U9 FEH Y ford |
Critically explain the Environmental Laws in India.
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9. Explain Forest Policies after independence. I;-!r'
10.  Write an essay on Infrastructure Projects and India‘rf; J
Judiciary.
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